Jason Shifflett output
A:\>assign2 < c:\temp\p2goodin.txt

 THIS PROGRAM WILL BREAK UP A CONTINUES STING OF

 NUMBERS INTO THREE DIGITS TO A MAX OF 30 DIGITS

 WARNING DO NOT START LINE WITH ZERO

 USER MUST ENTER A NUMBER THEN PUSH ENTER, CONTROL Z

 THE PUSH ENTER. THE ORIGINAL ARRAY WILL BE SHOWN

 THE MAX NUMBER AND POSITION IN ARRAY, MIN, AVERAGE

 AND SORTED ARRAY WILL BE SHOWN

  The number of values read is     6

 RAW DATA IN ARRAY

     616

     323

     345

     456

     987

       0

       0

       0

       0

       0

 THE MAX VALUE IS 987 AT LOCATION  1   5

 THE MIN VALUE IS   0

 AVERAGE OF THE ARRAY       0.00

 SORTED ARRAY

     616

     345

     456

     987

     323

       0

     ***

       0

     ***

       0

A:\>assign2 < c:\temp\p2bad.txt

 THIS PROGRAM WILL BREAK UP A CONTINUES STING OF

 NUMBERS INTO THREE DIGITS TO A MAX OF 30 DIGITS

 WARNING DO NOT START LINE WITH ZERO

 USER MUST ENTER A NUMBER THEN PUSH ENTER, CONTROL Z

 THE PUSH ENTER. THE ORIGINAL ARRAY WILL BE SHOWN

 THE MAX NUMBER AND POSITION IN ARRAY, MIN, AVERAGE

 AND SORTED ARRAY WILL BE SHOWN

fmt: read unexpected character

apparent state: unit 5 (unnamed)

last format: (10(I3))

lately reading sequential formatted external IO

This application has requested the Runtime to terminate it in an unusual way.

Please contact the application's support team for more information.

A:\>assign2 < c:\temp\p2full.txt

 THIS PROGRAM WILL BREAK UP A CONTINUES STING OF

 NUMBERS INTO THREE DIGITS TO A MAX OF 30 DIGITS

 WARNING DO NOT START LINE WITH ZERO

 USER MUST ENTER A NUMBER THEN PUSH ENTER, CONTROL Z

 THE PUSH ENTER. THE ORIGINAL ARRAY WILL BE SHOWN

 THE MAX NUMBER AND POSITION IN ARRAY, MIN, AVERAGE

 AND SORTED ARRAY WILL BE SHOWN

  The number of values read is    18

 RAW DATA IN ARRAY

     987

     212

     432

     345

     798

       0

       0

       0

       0

       0

 THE MAX VALUE IS 987 AT LOCATION  0 ***

 THE MIN VALUE IS   0

 AVERAGE OF THE ARRAY       0.00

 SORTED ARRAY

     987

     432

     345

     798

     212

       0

     ***

       0

     ***

       0

A:\>

Goodin: only reads one column of input, the second column, all values computed wrong

Bad: Terminates abnormally

Full: only reads one column of input, the second column, all values computed wrong

